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Section : Static Current Affairs & General Knowledge

Q.1 Which of the following pair of classical dance - Indian state is correct?

|. Sattriya Dance — Assam
Il. Mohiniyattam Dance — Kerala

Ans X 1. Neither I nor I

< 2.0nlyl
" 3.Bothland

2 4.0nlyll

Question ID : 77739310
Status : Answered
Chosen Option : 3

Q.2 In which year, Mahatma Gandhi went to Ahmedabad to organise a satyagraha
movement amongst cotton mill workers?

Ans 7 1.1918
X 2.1917
% 3.1919
X 4.1920

Question ID : 7773936
Status : Answered
Chosen Option : 1

Q.3 AvaniLekhara won a gold medal in Tokyo Paralympics 2020. She is associated with
which sports?

Ans  # 1.Shotting
#< 2. Table Tennis
5 3. Archery
< 4.Badminton

Question ID : 7773933
Status : Answered
Chosen Option : 1
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Q.4 PachmarhiBiosphere reserves is situated in which state of India?
Ans X 1.Kerala

5 2. Karnataka
" 3. Madhya Pradesh
Z< 4. Himachal Pradesh

Question ID : 77739319
Status : Not Answered
Chosen Option : --

Q.5 Which of the following is the major hazard of nuclear power generation?

I. Storage of fuel.
Il. Disposal of spent or used fuel.

Ans  # 1.Bothlandll
X 2.0nlyl
< 3. Neither I nor lI
5 4.0nlyll

Question ID : 77739316
Status : Not Answered
Chosen Option : --

Q.6 Hornbill Festival is celebrated in which state of India?
Ans X 1.Gujarat

< 2. Karnataka
< 3. Tamil Nadu
" 4.Nagaland

Question ID : 77739311
Status : Answered
Chosen Option : 4

Q.7 Electricity generated from coalis called ______.
Ans X 1.nuclear power

" 2.thermal power
25 3. solar power
< 4. hydel power

Question ID : 77739312
Status : Answered
Chosen Option : 2
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Q.8 “Laman”is aregional music of which state of India?
Ans X 1.Maharashtra

" 2. Himachal Pradesh
25 3. Uttar Pradesh
< 4.Rajasthan

Question ID : 7773939
Status : Not Answered
Chosen Option : --

Q.9 Who among the following founded Arya Samajin 1875?
Ans X 1.Raja Rammohan Roy

" 2. Swami Dayanand Saraswati
< 3. Jyotirao phule
& 4.1shwarchandra Vidyasagar

Question ID : 7773935
Status : Answered
Chosen Option : 2

Q.10 Which of the following pair of Biosphere Reserve-Indian state is correct?

I. Nanda Devi — Uttarakhand
Il. Gulf of mannar - West Bengal

Ans X 1.Bothlandll
< 2. Neither I nor Il
" 3.0nly |
2 4.0nly i

Question ID : 77739320
Status : Answered
Chosen Option : 1

Q.11 In October 2021, India’s power ministry announced to make it mandatory for three
categories of thermal power plants tousea ______ blend of biomass pellets with
coal.

Ans 4 1.5 percent
< 2.2 percent
< 3.10 percent

#< 4.8 percent

Question ID : 7773932
Status : Answered
Chosen Option : 1
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Q.12 Which country will host Summer Olympics 2024?
Ans X 1.United States of America

#5 2. China
«" 3. France
< 4. Australia

Question ID : 7773934
Status : Answered
Chosen Option : 2

Q.13 Tuticorin thermal power plant is situated in which state of India?
Ans X 1.Kerala

< 2. Karnataka
5 3.Telangana
" 4. Tamil Nadu

Question ID : 77739315
Status : Not Answered
Chosen Option : --

Q.14 ShriBrahmapuriswara Temple is situated in which state of India?
Ans  # 1. Tamil Nadu

< 2. West Bengal
#< 3.Rajasthan
< 4. Maharashtra

Question ID : 7773938

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.15 Currency of Japanis ______ .
Ans  # 1.Yen

< 2. Dollar

25 3. Loti
< 4. Nakfa

Question ID : 77739313
Status : Answered
Chosen Option : 1

Q.16 Baraunithermal power plant is situated in which state of India?
Ans X 1.West Bengal

" 2.Bihar
#5 3. Uttar Pradesh
25 4. Jharkhand

Question ID : 77739314
Status : Not Answered
Chosen Option : --
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Q.17 Who among the following has been awarded the 2021 Nobel prize in field of
chemistry?

Ans X 1.Giorgio Parisi
< 2. Syukuro Manabe
«# 3. Benjamin List
25 4. Jennifer Doudna

Question ID : 7773931
Status : Answered
Chosen Option : 3

Q.18 Kaziranga Wildlife Sanctuary is situated in which state of India?
Ans  # 1.Assam

& 2. Meghalaya
< 3. Arunachal Pradesh
5 4. Sikkim

Question ID : 77739317
Status : Answered
Chosen Option : 1

Q.19 Sher Shah's Tomb is situated in which state of India?
Ans X 1.Gujarat

#5 2. Uttar Pradesh
#5 3.Rajasthan
" 4.Bihar

Question ID : 7773937
Status : Not Answered
Chosen Option : --

Q.20 Which of the following wildlife sanctuary is situated in Rajasthan?
Ans X 1. Govind Wildlife Sanctuary

«# 2. Sariska Wildlife Sanctuary
2% 3. Kanha Wildlife Sanctuary
< 4. Manas Wildlife Sanctuary

Question ID : 77739318
Status : Not Answered
Chosen Option : --

Section : Basic Comput er Knowledge

Downloaded from - www.exammix.com




Visit - www.exammix.com & Download : All Shift CBT Question Papers (Hindi & English)

Q.1 In MS Excel 2019, which shortcut key is used to zoom in a spreadsheet?
Ans X 1.Ctrl+ Alt+ +

o 2.Ctrl + Alt + =
25 3. Ctrl + Shift + =
25 4. Ctrl + Shift + +

Question ID : 77739330
Status : Answered
Chosen Option : 2

Q.2 What is the fullform of MICR?
Ans  # 1. Magnetic Ink Character Recognition

< 2. Magnetic Identity Character Register
< 3. Magnetic Ink Character Register
25 4. Magnetic Identity Character Recognition

Question ID : 77739326
Status : Answered
Chosen Option : 1

Q.3 Which of the following is NOT an application software?
Ans X 1.Graphics Software

#< 2. Spreadsheet Software
¥ 3. Operating Software
#5 4. Database Software

Question ID : 77739328
Status : Answered
Chosen Option : 3

Q.4 What is the fullform of RISC?
Ans  * 1.Reduced Instruction Set Computer

#5 2. Reduced Identity Set Computer
25 3.Reduced Instruction Size Computer

< 4. Reduced Identity size Computer

Question ID : 77739323
Status : Answered
Chosen Option : 1
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Q.5 Which of the following is the correct regarding drum printers?

I. They are impact printers
Il. They can be used to produce multiple copies using carbon paper

Ans X 1.0nly|
" 2.Bothlandll
25 3. Neither I nor Il

X 4.0nlyll

Question ID : 77739327
Status : Not Answered
Chosen Option : --

Q.6 Which of the following is NOT an optical disk?
Ans  * 1. Memory Card

2< 2.DVD
7< 3.CD - ROM
X 4.CR-R

Question ID : 77739324
Status : Answered
Chosen Option : 1

Q.7 Which of the following is an input device?

I. Keyboard devices
Il. Digitizer
I1l. Speech recognition devices

Ans X 1.landll
& 2.1, 1land lll
25 3. lland Il
X 4. 1and lll

Question ID : 77739325
Status : Answered
Chosen Option : 2

Q.8 Which of the following register holds the address of the active memory location?
Ans X 1.PC

< 2.MBR
& 3. MAR

X 4.1/0

Question ID : 77739322
Status : Answered
Chosen Option : 3
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Q9 ______ is the process of saving data and instructions to make them available for
initial or additional processing as and when required.

Ans X 1.Inputting
" 2. Storing
< 3. Processing
#< 4. Controlling

Question ID : 77739321
Status : Answered
Chosen Option : 2

Q.10 In MS Word 2019, which shortcut key is used for decreasing the font size by 1 point?
Ans X 1.Ctrl+ >

& 2.Ctrl +]
W 3.Ctrl + [
5 4. Ctrl + <

Question ID : 77739329
Status : Answered
Chosen Option : 3

Section : Logical Reasoning or Quantitative Aptitude

Q.1 Inthe following question below are given some statements followed by some
conclusions based on those statements. Taking the given statements to be true
even if they seem to be at variance from commonly known facts. Read all the
conclusions and then decide which of the given conclusion logically follows the given
statements.

Statements:
I. All A are B.
Il. Some B areC.

Conclusions:
l.Some AareC.
Il. No Bis A.

Ans  #* 1. Neither conclusion follows
#< 2. Both conclusion I and Il follows
#5 3. 0nly conclusion Il follows

25 4.0nly conclusion | follows

Question ID : 77739342
Status : Answered
Chosen Option : 1
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Q.2 Inthe following question, select the related words from the given alternatives.

Author : Pen :: Sculptor :?
Ans X 1.Plough

o« 2. Chisel

2 3.Gun
5 4. Saw

Question ID : 77739334
Status : Answered
Chosen Option : 2

Q.3 Inthe following question, four letter pairs are given. The letters on left side of (=) is
related to the letters on the right side of (=) with some Logic/Rule/Relation. Three
are similar on basis of same Logic/Rule/Relation. Select the odd one out from the
given alternatives.

Ans o 1.LM-NJ

X 2.RS-TQ
< 3.DQ-FO
X 4.PW - RU

Question ID : 77739333
Status : Answered
Chosen Option : 1

Q.4 Inthe following question below are given some statements followed by some
conclusions based on those statements. Taking the given statements to be true
even if they seem to be at variance from commonly known facts. Read all the
conclusions and then decide which of the given conclusion logically follows the given
statements.

Statements:
I. All A are B.

Il. AllB are C.
I1l. No C is D.

Conclusions:

l. Some C are A.
Il. No Ais D.

1ll. No D is B.

Ans X 1.0nly conclusion Il follows
" 2. All conclusion follows
#5 3. 0nly conclusion | follows

#5 4. Both conclusion Il and Il follows

Question ID : 77739343
Status : Answered
Chosen Option : 2
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Q.5 Sixgirls G1,G2, G3, G4, G5 and G6 sit in a row facing towards the north (not
necessarily in the same order). G4 does not sit at an extreme end. G3 sits second to
the left of G5. One girl sits between G1 and G6. G6 sits third to the right of G2. Who
sits second to the right of G4?

Ans X 1.G5
X 2.G3
o 3.G6
X 4.G1

Question ID : 77739340
Status : Not Answered
Chosen Option : --

Q.6 Inacertain code language, ‘HOTEL is written as ‘6’, 'CHEF’ is written as ‘4’. What is
the code for ‘KITCHEN' in that code language?

Ans X 1.13
X 2.6
3.7
X 4.14

Question ID : 77739337
Status : Answered
Chosen Option : 3

Q.7 Jisthe wife of K, Kis the father of L and L is the sister of M. How is J related to M?
Ans X 1.Son

25 2. Aunt
«" 3. Mother
< 4. Sister

Question ID : 77739347
Status : Answered
Chosen Option : 3

Q.8 Ais the father of B,Bis the brother of C and C is the daughter of D. How is D
related to B?

Ans X 1. Wife
< 2. Aunt
#5 3. Sister
«" 4. Mother

Question ID : 77739346
Status : Answered
Chosen Option : 4
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Q9 If29R27P87=9and56 P 168 R111=37,then114R17P19=?
Ans X 1.112

X 2.86
o 3.102

X 4.94

Question ID : 77739345
Status : Not Answered
Chosen Option : --

Q.10 Ateam of four members has to be selected among M1, M2, M3, M4, M5, M6 and M7.
Neither M4 nor M7 can be selected with M3. Only one among M2 and M6 has to be
selected with M5. M4 and M6 cannot be selected together. Who among the
following members can be selected?

Ans X 1.M2, M3, M5, M7
& 2. M1, M2, M3, M7
& 3. M1, M2, M3, M5
< 4. M2, M4, M5, M6

Question ID : 77739339
Status : Answered
Chosen Option : 3

Q.11 How many engineers are not doctors?

Females Doctors

)
V)
w Engineers

Ans 4 1.106
X 2.69
X 3.112
X 4.98

Question ID : 77739348
Status : Answered
Chosen Option : 1
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Q.12 Aseries is given with one term missing. Select the correct alternative from the
given ones that will complete the series.

NTR, PQV,RNZ, TKD, VHH, ?
Ans X 1.WEL

X 2.XFJ

o 3. XEL

X 4.XFL

Question ID : 77739331
Status : Answered
Chosen Option : 3

Q.13 Inthe following question, select the odd group of nhumbers from the given
alternatives.

Ans X 1.(12,144,1728)
o 2.(17, 289, 4813)
2 3.(11,121,1331)
X 4.(14,196, 2744)

Question ID : 77739344
Status : Answered
Chosen Option : 2

Q.14 If today is Tuesday, then what will be the day after 32 days?
Ans o 1.Saturday

< 2.Sunday
< 3. Friday
25 4. Thursday

Question ID : 77739350
Status : Answered
Chosen Option : 1

Q.15 Inthe following question, select the related letter pair from the given alternatives.
DJKM : HOQT ::?
Ans X 1.LMTS:PRTY
2< 2. FHPR : JMWY
" 3.ClOQ : GNUX
< 4.ENDT :1ISIZ

Question ID : 77739335
Status : Answered
Chosen Option : 3
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Q.16 Arrange the given words in the sequence in which they occur in the dictionary.

1. Quarreling
2. Quadrivium
3. Quantitive
4. Quacksalver
5. Quantified

Ans o 1.42531
X 2.45231
X 3.42351
X 4.42513

Question ID : 77739332
Status : Answered
Chosen Option : 1

Q.17 Five persons A, B, C, D and E like one among five different books B1, B2, B3, B4 and
B5 (not necessarily in the same order). A does not like B1 and B2. E does not like B1,
B2 and B5. D likes B4. B does not like B2 and B3. What does C like?

Ans X 1.B3
X 2.B1
o 3.B2
X 4.B5

Question ID : 77739338
Status : Answered
Chosen Option : 3

Q.18 In a certain code language, ‘POST' is written as ‘'SRVW’. What is the code for ‘FIRE’
in that code language?

Ans X 1.IMUH
o 2.ILUH
2 3. HLUH
7< 4. HLVH

Question ID : 77739336
Status : Answered
Chosen Option : 2

Q.19 Price of 8cars A, B,C, D, E, F, G and H is compared. Price of neither D nor H is
highest. Price of G is more than only C. Price of F is more than E but not more than
A. Price of H is not less than E. Price of H is less than F. If price of Ais not highest
and price of D is second highest, then which of the following statement is not
correct?

Ans X 1. Price of B is highest
25 2.H>E> G can be correct
< 3. Price of H can be equal to E

" 4. Price of A cannot be equal to the price of D

Question ID : 77739341
Status : Answered
Chosen Option : 3
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Q.20 Based on the given venn diagram, which of the following statement(s) is/are
correct?

I. The number of black which are only green is 4.
Il. The number of shirts which are both black and jeans is 7.

Black

/

16 Green

Aﬁzdf

s| 15[ 4| 7 ]20] 9 ]4}—1Jeans

16
Shirts 32

Ans X 1.Bothlandll

< 2.0nly i
" 3. Neither I nor I

& 4.0nlyl

Question ID : 77739349
Status : Answered
Chosen Option : 3

Q.21 In aclass Ram ranks 8th from the top and 32nd from the bottom. How many
students are there in the class?

Ans X 1.37
 2.39
X 3.43
X 4.40

Question ID : 77739351
Status : Answered
Chosen Option : 2

Q.22 In arow of 20 people, when Mukesh shifts 2 positions left, then he becomes 4th
from left. What is his previous position in the row from right?

Ans X 1.17th
X 2.12th
< 3.14th
& 4.15th

Question ID : 77739354
Status : Answered
Chosen Option : 4
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Q.23 A, B and C have some money in the ratio of 2:3:5respectively. Total money they
are having is Rs. 10000. What is the share of B?

Ans  * 1.Rs.3000
#< 2.Rs. 2000
#< 3.Rs. 4500
/< 4.Rs. 5000

Question ID : 77739352
Status : Answered
Chosen Option : 1

Q.24 Inarow of children, Rahul is 6th from right and Ravi is 4th from the left. When they
interchange their positions, then Rahul becomes 10th from right. What will be Ravi’s

new position from left?
Ans  # 1.8th

25 2.6th

25 3.4th
< 4.10th

Question ID : 77739355
Status : Answered
Chosen Option : 1

Q.25 The ratio of the present ages of Seeta and Geeta is 2 : 3 respectively. After 5 years
the ratio become 5:7 respectively. What is the present age of Geeta?

Ans X 1.20years
& 2.25 years
" 3.30 years
5 4.35years

Question ID : 77739353
Status : Answered
Chosen Option : 3

Section : Numerical Aptitude

Q.1 The difference between the compound interest (compounding annually) and simple
interest on a sum at the rate of 25 percent per annum for 2 years is Rs. 1600. What

is the sum?
Ans X 1.Rs.32400

< 2.Rs. 25000
7 3.Rs. 14400
o 4.Rs. 25600

Question ID : 77739375
Status : Answered
Chosen Option : 4
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Q.2 Pinvested Rs. 12000 for 2 years. Q joined him with an investment of Rs. 36000 after
few months. If the ratio of profit of P and Q at the end of two yearsis 2:3
respectively, then for how many months was Q with P in the partnership?

Ans X 1.6 months

" 2.12 months
5 3.20 months
25 4.18 months

Question ID : 77739371
Status : Answered
Chosen Option : 2

Q.3 What is the average of the first 27 natural numbers?
Ans X 1.17.5

X 2.19
o 3.14
X 4115

Question ID : 77739361
Status : Answered
Chosen Option : 3

Q.4 If 9times of selling price is equalto 10 times of cost price, then what is the profit
percentage?

Ans X 1.15 percent
< 2.10 percent
#5 3.9.09 percent
o 4.11.11 percent

Question ID : 77739367
Status : Answered
Chosen Option : 4

Q.5 . ”
What is the value of (3 ‘44] N (1 -56) 2
]
Ans o 1.1.88
252.1.98
< 3.1.68
X 4.1.78

Question ID : 77739356
Status : Answered
Chosen Option : 1
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Q.6 a, b and c are positive integers. a2+ b2=34and b2+ c2=29. What is the value of a +
b+ c?

Ans X 1.8
X 2.12
X 3.14
& 4.10

Question ID : 77739360

Status - Not Attempted and
" Marked For Review

Chosen Option : --

Q.7 Aperson lent certain sum of money at the annual rate of 25 percent on simple
interest. In 6 years the interest amounted to Rs. 360 more than the sum lent. What
is the sum lent?

Ans X 1.Rs.600
« 2.Rs.720
% 3.Rs. 360
X 4.Rs. 540

Question ID : 77739373
Status : Answered
Chosen Option : 2

Q.8 The average height of R, S and T is 183 cm. If the average height of Rand S is 151
cm and the average height of S and T is 150 cm, then what is the height of S?

Ans  # 1.53cm
& 2.55¢cm
5 3.57¢cm
25 4.59¢cm

Question ID : 77739362
Status : Answered
Chosen Option : 1

Q.9 The speed of Kand L are 90 km/hr and 10 m/s respectively. What is the ratio of the
distance covered by them in one hour?

Ans #1.5:2
< 2.2:1
£ 3.9:1
< 4.3:2

Question ID : 77739376
Status : Answered
Chosen Option : 3

Downloaded from - www.exammix.com




Visit - www.exammix.com & Download : All Shift CBT Question Papers (Hindi & English)

Q.10 Aperson leaves from C at 4:00 a.m. and reaches D at 6:00 a.m. Another person
leaves D at 5:00 a.m. and reaches C at 1:00 p.m. At what time will they meet?

Ans  # 1.5:48 am
5 2.5:45 am
2 3.5:50 am
&5 4.5:220 am

Question ID : 77739377
Status : Answered
Chosen Option : 1

Q.11 Aman buys 15 pens for a rupee. How many pens should he sell for a rupee to earn a
profit of 50 percent? (Cost price of all pens is same. Selling price of all pens is
same)

Ans X 1.8
X 2.12
& 3.10
X 4.6

Question ID : 77739368
Status : Answered
Chosen Option : 1

Q.12 If Xis 2 times more than Y, then Y is what percentage less than X?
Ans ¥ 1.66.67 percent

75 2.87.5 percent
25 3.33.33 percent
25 4.99.99 percent

Question ID : 77739365
Status : Answered
Chosen Option : 1

Q.13 |f (55°5 + 55) is divided by 56, then what is the remainder?
Ans X 1.55

X 2.1
o 3.54
X4

Question ID : 77739359
Status : Not Answered
Chosen Option : --

Downloaded from - www.exammix.com




Visit - www.exammix.com & Download : All Shift CBT Question Papers (Hindi & English)

Q.14 In an examination, 75 percent of the total students passed and 125 students failed.
If all the students appeared in the exam, then what is the total number of students
who have appeared in the exam?

Ans X 1.300
o 2.500
% 3.600
X 4.400

Question ID : 77739364
Status : Answered
Chosen Option : 2

Q.15 The Highest Common Factor of two numbers is 1/4th of their Least Common
Multiple. If the product of the two numbers is 484, then what is the Highest
Common Factor?

Ans X 1.9
o 2.11
X 3.22
X 4.24

Question ID : 77739358
Status : Answered
Chosen Option : 2

Q.16 Lis 137.5 percent of M and M is 40 percent less than N. If L is 825, then what is the
value of N?

Ans X 1.565
% 2.650
o 3.625
X 4.575

Question ID : 77739366

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.17 Gauravis four times as efficient as Shambu. Gaurav takes 67.5 days less than
Shambu to complete a work. If both of them work together, then in how many days
will the same work be completed?

Ans  # 1.18days
5 2.25days
< 3.90 days
< 4.55days

Question ID : 77739380
Status : Answered
Chosen Option : 1
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Q.18 E, F and G together can complete a work in 20 days. E and F together can complete
the same work in 50 days. G alone can finish the same work in how many days?

Ans X 1.32days
25 2.35days
¥ 3.100/3 days
25 4.110/3 days

Question ID : 77739379
Status : Answered
Chosen Option : 3

Q.19 Asum of Rs. 7500 is invested in a scheme of simple interest. The rate of interest in
this scheme is 10 percent per annum. If Rs. 1500 interest is obtained, then for how
many months is the sum invested?

Ans X 1.30 months
« 2.24 months
< 3.27 months
< 4.18 months

Question ID : 77739374
Status : Answered
Chosen Option : 2

Q.20 Ataxitravels 2/5 parts of its total journey at its usual speed. The remaining
distance is covered by taxi at 2/3 speed of its usual speed. Due to slow speed, it
reaches its destination 180 minutes late. If the total distance is 450 km, then what
is the usual speed of taxi?

Ans  # 1.45km/hr
Z5 2.60 km/hr
#< 3.30 km/hr
< 4.75km/hr

Question ID : 77739378
Status : Answered
Chosen Option : 4

Q.21 If 3P =5Q = 15R, then what is the value of P:Q :R?
Ans X 1.7:4:3

K 2.9:5:2
o 3.5:3:1
K 4.3:2:1

Question ID : 77739370
Status : Answered
Chosen Option : 3
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Q.22 J,KandL start a partnership. They invested Rs. 70000, Rs. 210000 and Rs. 140000
respectively. They stayed in partnership for 4 years, 6 years and 5 year respectively.
If J's share in profit is Rs. 40000, then what is the sum of share of Kand L in the

profit?
Ans  # 1.Rs. 280000

% 2.Rs. 108000
< 3.Rs. 130000
2< 4.Rs. 140000

Question ID : 77739372
Status : Answered
Chosen Option : 1

Q.23 If one-third of one-fifth of one-eight of a number is 32, then what is the number?
Ans X 1.3420

& 2.3840
2< 3.3480
X 4.3240

Question ID : 77739357
Status : Answered
Chosen Option : 2

Q.24 Atrader sells a bottle at a profit of 20 percent. Had he bought that bottle at 20
percent less price and sold it at Rs. 40 less, then he would have earned a profit of 30
percent. What is the cost price of the bottle?

Ans X 1.Rs. 400
X 2.Rs. 380
& 3.Rs. 250
 4.Rs.350

Question ID : 77739369
Status : Answered
Chosen Option : 3

Q.25 Harish marks his pen at Rs. 2500 and after allowing discount of 20 percent, he still
earns 25 percent profit. What is the cost price of the pen?

Ans X 1.Rs.1800
X 2.Rs. 2000
o« 3.Rs. 1600
X 4.Rs. 1400

Question ID : 77739363
Status : Answered
Chosen Option : 3
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Q.1 Find the incorrectly spelt word in the given sentence.

They wanted to simulate how radiation and clouds interact to redistirbute heat and
water vapour through the atmosphere.

Ans X 1.simulate
#< 2. atmosphere
¥ 3. redistirbute

25 4. interact

Question ID : 77739391
Status : Answered
Chosen Option : 3

Q.2 Asentence has been given with a blank to be filled with an appropriate word making
the sentence grammatically correct. Choose the correct alternative.

Thedogcanget ______ with other pets in a multiple pet home.
Ans X 1.about

25 2. over
< 3.around

# 4.along

Question ID : 77739383
Status : Answered
Chosen Option : 4

Q.3 Choose the sentence with the correct grammatical structure.
Ans 4 1.1 will dothebest|can.

5 2. The best | will do | can.
< 3. 1 will be doing best | can.
5 4.1do will the best | can.

Question ID : 77739395
Status : Answered
Chosen Option : 1

Q.4 Choose the correct preposition for the given blank.

Rekha asked Ritu to spread the butter ___ a knife.
Ans X 1.over

& 2.0n
< 3.0on
& 4. with

Question ID : 77739397
Status : Answered
Chosen Option : 4
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Q.5 Find the part of the given sentence that has an error init. If there is no error,
choose ‘No error’.

A few impressions stand (1)/ out vivid from the (2)/ first years of my life. (3)/ No
error (4)

Ans X 1.1
o 2.2
X 3.4
X 4.3

Question ID : 77739381
Status : Answered
Chosen Option : 4

Q.6 Inthe following question, out of the given four alternatives, select the alternative
which best expresses the meaning of the Idiom/Phrase.

To turn the corner
Ans X 1.To snitch on someone
25 2. To reveal your plans

4" 3. To begin to find success after a particularly difficult period

#< 4. Toreach the next level

Question ID : 77739390
Status : Answered
Chosen Option : 2

Q.7 Find the incorrectly spelt word in the given sentence.

The Egyptians developed cut stone for use in royal mortuary buildings not only for
its strength but also for its durablity.

Ans X 1.mortuary
#< 2. buildings
75 3. developed
¥ 4. durablity

Question ID : 77739392
Status : Answered
Chosen Option : 4

Q.8 Inthe following question, out of the given four alternatives, select the alternative
which best expresses the meaning of the Idiom/Phrase.

To keep body and soul together
Ans X 1.To stay calm
25 2.Toearn a livelihood
< 3. To take time to recover

" 4.Tosurvive

Question ID : 77739389
Status : Answered
Chosen Option : 1
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Q.9 Choose the correct spelling of the given word:
Ans X 1. Tempreature

" 2. Temperature
< 3. Temprature

< 4. Tempereature

Question ID : 77739399
Status : Answered
Chosen Option : 2

Q.10 A sentence has been given with a blank to be filled with an appropriate word making
the sentence meaningfully correct. Choose the correct alternative.

The hybrid model of working is still emerging, and so it can be made more ________ .
Ans 4 1.sustainable

< 2.inadequate

25 3. surgical
25 4. captive

Question ID : 77739394
Status : Answered
Chosen Option : 1

Q.11 Select the most appropriate option to substitute the underlined segment in the
given sentence. If no substitution is required, select No improvement.

Due to a change in family circumstances, we have two springer spaniel sisters that
we can no longer look in.

Ans 2 1. No improvement
«# 2.no longer look after
< 3.nolong look up

5 4.no longer look over

Question ID : 77739386
Status : Answered
Chosen Option : 2

Q.12 Select the most appropriate option to substitute the underlined segment in the
given sentence. If no substitution is required, select No improvement.

He stooped and picked up an bird's nest that had fallen upon the ground.
Ans X 1.Noimprovement

£ 2.0n an bird’s nest
" 3.upa bird’s nest
< 4. at a birds nest

Question ID : 77739385
Status : Answered
Chosen Option : 3
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Q.13 Choose the word that is opposite in meaning to the given word.

Clamorous
Ans X 1. Autocratic

«# 2. Muffled
#< 3. Vociferous
#5 4. Clattering

Question ID : 77739388
Status : Not Answered
Chosen Option : --

Q.14 Choose the article for the given blank:

They have finished ____ given work.
Ans X 1.a

< 2. zero article
" 3.the
5 4. an

Question ID : 77739398
Status : Answered
Chosen Option : 3

Q.15 A sentence has been given with a blank to be filled with an appropriate word making
the sentence grammatically correct. Choose the correct alternative.

Mycallwas ________ to a female with a mature sounding voice.
Ans X 1.forwards

25 2. forwarding
«# 3. forwarded
< 4. forward

Question ID : 77739384
Status : Answered
Chosen Option : 3

Q.16 A sentence has been given with a blank to be filled with an appropriate word making
the sentence meaningfully correct. Choose the correct alternative.

She stoodfora
Ans X 1.note

, trying to remember what the smell was.

< 2. seriousness
25 3. substance

" 4. moment

Question ID : 77739393
Status : Answered
Chosen Option : 4
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Q.17 Find the part of the given sentence that has an error init. If there is no error,
choose ‘No error’.

| have already told (1)/ two of your men that | have (2)/ forty pieces of gold at my
hat. (3)/ No error (4)

Ans X 1.1
X 2.2
& 3.3
X 4.4

Question ID : 77739382
Status : Answered
Chosen Option : 3

Q.18 Choose the word that means the same as the given word.

Persistence
Ans X 1.Converse

< 2. Preserve
< 3. Elaborate
" 4. Endurance

Question ID : 77739387
Status : Answered
Chosen Option : 4

Q.19 Choose the correct form of verb for the given blank.

| ____up at 5.00 a.m. every day.
Ans X 1. will wake

25 2. woke
2 3. was awake

o 4. wake

Question ID : 77739396
Status : Answered
Chosen Option : 4

Q.20 Choose the most appropriate option for the given blank in a sentence.

ltwas _________ to see so many different kinds of artifacts at the same place in
museum.

Ans X 1. more beautiful
5 2. most beautiful
" 3. most interesting

25 4. more interesting

Question ID : 777393100
Status : Answered
Chosen Option : 4
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